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\,\1, Find the slope of the line that goes through each pair of
poinis. See Examples 3and4.
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ﬁ3{7’ @ The line through (=2, 3) with slope —2

Thc Jine through (2, 5) with slope 1
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asw |y through (1, 2) with slope % and draw 1, through
) with slope 2

46,

51, Draw I, through (~2, 4) and (3, = 1). What i

of any line perpendicular to /,? Draw /; throug
that it is perpendicular to /,.

5 H. @Reﬁr@menr pay. The annual Social Security benefit of a
retiree depends on the age at the time of retirement. The
accompanying graph gives the annual benefit for per-
sons retiring at ages 62 through 70 in the year 2005 or
later (Source: Social Security Administration). What is
the annual benefit for a person who retires at age 647 At
what retirement age does a person receive an annual
benefit of $11,600? Find the slope of each line segment
on the graph, and interpret your results. Why do people
who postpone retirement until 70 years of age get the
highest benefit?

o (64,8000)

(62,7000)
62 63 64 65 66 67 68 69 70
Retirement age
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Find r}!e slope and y-intercept for each line that has a slope
and y-intercept. See Example 2.
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form using only iniegers:

Write each equation in standard

e\l

Example 3.

Draw the graph of each line using its y-intercept and its
slope. See Examples 4 and 5.

(__72.yMarginal revenue. A defense attorney charges her
client $4000 plus $120 per hour. The formuld
R = 120n + 4000 gives her revenue in dollars for

Revenue (thousands of dollars)

97 98 99 100 101 102 103
Time (hours)
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Draw the graph of each line using its y-intercept and its

i . See s 4 B
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{"ind the equation of each line. Write each answer in slope-
intercept form. See Example 1.

0] @ The line with slope —6 that goes through (=1, =7)

X

‘6. @The line with slope —8 that goes through (—1, =5)

Find the equation of each line. Write each answer |

dard form using only integers. See Example 2.

28.) The line through the points (—1, —3) and (2, 1)

5 fornula that describes the function for each of the
"o, See Examples 1 and 2.
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i A developer prices condominiums in Florida at $20,000
plus $40 per square foot of living area. Express the
cost C as a function of the number of square feet of

~ living area 5.

9. The sales tax rate, on sgrogéries,in Mayb: 9%.
the total price of the groceries S.
‘With a GM MasterCard, 5% of the amount charged is

h ‘credited toward a rebate on the purchase of a new car.

Express the rebate R as a function of the amount

charged A.

o 21d.

83, Threshold weight, The +h

Graph each inequality. Use the test point method of t

Example 4.
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middle —aged males 2o Fonchon "\/(h) =0,0005394%3
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Lin pounds as‘a function of the height / in inches.
Find W(70). Find the threshold weight for a 6'2" middle-
aged male.
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